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����� 4 
 

��	
��
	�
 

 
 �����	
�����
��� ��������������������������������������������������
���� �!���"���� (Employee Self Service) ���2�����34�� ��5�	
���: ����7� 8"2��� 3��9 �
����48��!7�:4 �����	;�� <���7! :����=:�>�?����	
��� ��@������A� 2 :@�� ;!�!7���C 
 4.1 ?�������3����4�2��F��5���������7��7��5�������2���	�:"�4 
 4.2 ?�����!:��:��"�G�� 
 

4.1 ?�������3����4�2��F��5���������7��7��5�������2���	�:"�4 
 

 ��������3����4�7��5�������2���	�:"�4�����>@�"7���@�� �2�������������� �
8!�����<��<�3���=�� 3@������� ���� �!����7��5����2���	�:"�4 ������!��� �F	 ���> 
��!7����	
��� "�����@���� ������>���  
 

"������� 4.1  
<�������������������>@�"7���@��<�����"���F	 

 

 

�F	 <����� ������ 

2�� 
�H�� 

52 
84 

38.2 
61.8 

��� 136 100.0 

 

 <��"������� 4.1 F��@���>@�"7���@��:@����H@��A��F	�H��<����� 84 3���
�3�!��A�
������ 61.8 �����A��F	2��<����� 52 3���
������� 38.2  
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"������� 4.2 
<�������������������>@�"7���@��<�����"�����> 

 

���> <����� ������ 

"�����@� 20 �N  
20 O 29 �N 
30 O 39 �N 
40 O 49 �N 
50 �N�
C�;� 

0 
64 
50 
22 
0 

0 
47.0 
36.8 
16.2 
0 

��� 136 100.0 

 
 <��"������� 4.2 F��@���>@�"7���@��:@����H@�����>����@�� 20 O 29 �N <����� 64 

3� 3�!��A������� 47 ������������>����@�� 30 O 39 �N <����� 50 3� 3�!��A������� 36.8 ��� 
���>����@�� 40 O 49 �N <����� 22 3� 3�!��A������� 16.2 "�����!7� 
 

"������� 4.3 
<�������������������>@�"7���@��<�����"����!7����	
��� 

 

��!7����	
��� <����� ������ 

��>���HH�/��:. 
���HH�"����
��������@� 
: ���@����HH�"�� 

8 
112 
16 

5.8 
82.4 
11.8 

��� 136 100.0 

 
 <��"������� 4.3 F��@���>@�"7���@��:@����H@����!7����	
����� @����!7����HH�

"����
��������@�9
����<����� 112 3� 3�!��A������� 82.4 �������3
���!7�: ���@����HH�"����
<����� 16 3� 3�!��A������� 11.8 �����!7���>���HH�/��:.��<����� 8 3� 3�!��A������� 5.8 
"�����!7� 
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"������� 4.4 
<�������������������>@�"7���@��<�����"��"�����@���� 

 

"�����@���� <����� ������ 

F�7�������<��:���7���� (Staff) 
F�7�������<��:���7�������>8: (Senior Staff) 
��	��� (Engineering) 
�7�������@�� (Officer) 

52 
25 
40 
19 

38.2 
18.4 
29.4 
14.0 

��� 136 100.0 

 

 <��"������� 4.4 F��@���>@�"7���@��:@����H@��"�����@������ @��"�����@�F�7����
���<��:���7����<����� 52 3� 3�!��A������� 38.2 �������3
�"�����@���	���<����� 40 3� 
3�!��A������� 29.4  "�����@�F�7�������<��:���7�������>8:<����� 25 3� 3�!��A������� 18.4  
���"�����@��7�������@��<����� 19 3� 3�!��A������� 14.0 "�����!7� 
 

"������� 4.5 
<�������������������>@�"7���@��<�����"�����>��� 

 

���>��� <����� ������ 

������@� 1 �N 
1 O 3 �N 
4 O 6 �N 
7 O 9 �N 
10 �N�
C�;� 

6 
38 
34 
18 
40 

4.4 
27.9 
25.0 
13.3 
29.4 

��� 136 100.0 

 

 <��"������� 4.5 F��@���>@�"7���@��:@����H@�����>���"7C��"@ 10 �N�
C�;�<����� 40 
3� 3�!��A������� 29.4 �������3
����>��� 1 O 3 �N <����� 38 3� 3�!��A������� 27.9 ���
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���>��� 4 O 6 �N <����� 34 3� 3�!��A������� 25 ������>��� 7 O 9 �N <����� 18 3� 3�!��A�
������ 13.3 ���������@� 1 �N <����� 6 3� 3�!��A������� 4.4 "�����!7� 
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4.2 ?�����!:��:��"�G�� 
 

 ������� 1 ������3����43���:7�F7�W4����@��"7������:�� ���"7�������	
����@���
3���:7�F7�W4�7�3���F�������������������������34����
�;�@ 8!��2�����!:��:��"�G��
���:=�"�2��! ;3:�3��4 (Chi-Square) 8!�F�<��5�<��3@� Significance ���"7C�;������7�:��37H 
0.05  
 
������
���� 1  

H0: �F	;�@��3���:7�F7�W4�7�3���F����������������������34�� 
  H1: �F	��3���:7�F7�W4�7�3���F����������������������34�� 

 
"������� 4.6 

3���:7�F7�W4����@���F	�7�3���F����������������������34�� 

3���F����������������������34��  
�F	 2.00 2.50 3.00 3.50 4.00 4.50 5.00 ��� 

2�� 2 
(33.3) 

6 
(30.0) 

12 
(40.0) 

22 
(42.3) 

4 
(20.0) 

4 
(66.7) 

2 
(100.0) 

52 
(38.2) 

�H�� 4 
(66.7) 

14 
(70.0) 

18 
(60.0) 

30 
(57.7) 

16 
(80.0) 

2 
(33.3) 

0 
(0) 

84 
(61.8) 

��� 6 
(100.0) 

20 
(100.0) 

30 
(100.0) 

52 
(100.0) 

20 
(100.0) 

6 
(100.0) 

2 
(100.0) 

136 
(100.0) 

χ2 = 9.141, df = 6, Significance = 0.166, α = 0.05 
 

 <��"������� 4.6 F��@� 3@� Significance = 0.166 9
�������@� 0.05 (����7� H0) 
����=
� �F	���F�7����;�@��3���:7�F7�W4�7�3���F����������������������34�����:=�"����
��!7� 0.05 ��
���@��;!��@� �F	����"�"@���7����F�7����;�@��3���:7�F7�W4�7�3���F���������
����������������34�� 
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������
���� 2 

H0: ���>;�@��3���:7�F7�W4�7�3���F����������������������34�� 
  H1: ���>��3���:7�F7�W4�7�3���F����������������������34�� 

 
"������� 4.7 

3���:7�F7�W4����@�����>�7�3���F����������������������34�� 

3���F����������������������34��  
���> 2.00 2.50 3.00 3.50 4.00 4.50 5.00 ��� 

"�����@� 20 �N 0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

20 O 29 �N 0 
(0.0) 

18 
(90.0) 

14 
(46.7) 

22 
(42.3) 

6 
(30.0) 

2 
(33.3) 

2 
(100.0) 

64 
(47.1) 

30 O 39 �N 6 
(100.0) 

2 
(10.0) 

12 
(40.0) 

20 
(38.5) 

6 
(30.0) 

4 
(66.7) 

0 
(0.0) 

50 
(36.8) 

40 O 49 �N 0 
(0.0) 

0 
(0.0) 

4 
(13.3) 

10 
(19.2) 

8 
(40.0) 

0 
(0.0) 

0 
(0.0) 

22 
(16.2) 

50 �N�
C�;� 0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

��� 6 
(100.0) 

20 
(100.0) 

30 
(100.0) 

52 
(100.0) 

20 
(100.0) 

6 
(100.0) 

2 
(100.0) 

136 
(100.0) 

χ2 =39.538, df = 12, Significance = .000, α = 0.05 
 

 <��"������� 4.7 F��@� 3@� Significance = 0.000 9
��������@� 0.05 (����7� H1) 
����=
� ���>��3���:7�F7�W4�7�3���F����������������������34�����:=�"������!7� 0.05 ��
�
��@��;!��@� 3����"�"@������
������>���F�7������3���:7�F7�W4�7�3���F���������
����������������34�� 
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������
���� 3 

H0: ��!7����	
���;�@��3���:7�F7�W4�7�3���F����������������������34�� 
  H1: ��!7����	
�����3���:7�F7�W4�7�3���F����������������������34�� 

 
"������� 4.8 

3���:7�F7�W4����@����!7����	
����7�3���F����������������������34�� 

3���F����������������������34��  
��!7����	
��� 2.00 2.50 3.00 3.50 4.00 4.50 5.00 ��� 

��>���HH�/��:. 0 
(0.0) 

2 
(10.0) 

0 
(0.0) 

4 
(7.7) 

2 
10.0% 

0 
(0.0) 

0 
(0.0) 

8 
(5.9) 

���HH�"����
�
�������@� 

6 
(100.0) 

16 
(80.0) 

30 
(100.0) 

40 
(76.9) 

14 
(70.0) 

4 
(66.7) 

2 
(100.0) 

112 
(82.4) 

: ���@����HH�"�� 0 
(0.0) 

2 
(10.0) 

0 
(0.0) 

8 
(15.4) 

4 
(20.0) 

2 
(33.3) 

0 
(0.0) 

16 
(11.8) 

��� 6 
(100.0) 

20 
(100.0) 

30 
(100.0) 

52 
(100.0) 

20 
(100.0) 

6 
(100.0) 

2 
(100.0) 

136 
(100.0) 

χ2 =14.845, df = 12, Significance = .250, α = 0.05 
 

 <��"������� 4.8 F��@� 3@� Significance = 0.250 9
�������@� 0.05 (����7� H0) 
����=
� ��!7����	
���;�@��3���:7�F7�W4�7�3���F����������������������34�����:=�"�
��!7� 0.05 ��
���@��;!��@� 3����"�"@������
�����!7����	
������F�7����;�@��3���:7�F7�W4
�7�3���F�������������������������34�� 
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������
���� 4  

H0: "�����@����;�@��3���:7�F7�W4�7�3���F����������������������34�� 
  H1: "�����@������3���:7�F7�W4�7�3���F����������������������34�� 
 

"������� 4.9 
3���:7�F7�W4����@��"�����@�����7�3���F����������������������34�� 

3���F����������������������34��  
"�����@���� 2.00 2.50 3.00 3.50 4.00 4.50 5.00 ��� 

Staff 4 
(66.7) 

10 
(50.0) 

12 
(40.0) 

20 
(38.5) 

6 
(30.0) 

0 
(0.0) 

0 
(0.0) 

52 
(38.2) 

Senior Staff 0 
(0.0) 

0 
(0.0) 

7 
(23.3) 

10 
(19.2) 

2 
(10.0) 

6 
(100.0) 

0 
(0.0) 

25 
(18.4) 

Engineering 2 
(33.3) 

8 
(40.0) 

4 
(13.3) 

20 
(38.5) 

4 
(20.0) 

0 
(0.0) 

2 
(100.0) 

40 
(29.4) 

Officer 0 
(0.0) 

2 
(10.0) 

7 
(23.3) 

2 
(3.8) 

8 
(40.0) 

0 
(0.0) 

0 
(0.0) 

19 
(14.0) 

��� 6 
(100.0) 

20 
(100.0) 

30 
(100.0) 

52 
(100.0) 

20 
(100.0) 

6 
(100.0) 

2 
(100.0) 

136 
(100.0) 

χ2 =61.719, df = 18, Significance = .000, α = 0.05 
 

 <��"������� 4.9 F��@� 3@� Significance = 0.000 9
��������@� 0.05 (����7� H1) 
����=
� "�����@������3���:7�F7�W4�7�3���F����������������������34�����:=�"������!7� 
0.05 ��
���@��;!��@� 3����"�"@������
���"�����@�������F�7������3���:7�F7�W4�7�3���
F�������������������������34�� 
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������
���� 5  

H0: ���>���;�@��3���:7�F7�W4�7�3���F����������������������34�� 
  H1: ���>�����3���:7�F7�W4�7�3���F����������������������34�� 
 

"������� 4.10 
3���:7�F7�W4����@�����>����7�3���F����������������������34�� 

3���F����������������������34��  
���>��� 2.00 2.50 3.00 3.50 4.00 4.50 5.00 ��� 

������@� 1 �N 0 
(0.0) 

4 
(20.0) 

2 
(6.7) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

0 
(0.0) 

6 
(4.4) 

1 O 3 �N 0 
(0.0) 

4 
(20.0) 

10 
(33.3) 

16 
(30.8) 

4 
(20.0) 

2 
(33.3) 

2 
(100.0) 

38 
(27.9) 

4 O 6 �N 2 
(33.3) 

8 
(40.0) 

8 
(26.7) 

12 
(23.1) 

2 
(10.0) 

2 
(33.3) 

0 
(0.0) 

34 
(25.0) 

7 O 9 �N 0 
(0.0) 

4 
(20.0) 

4 
(13.3) 

4 
(7.7) 

4 
(20.0) 

2 
(33.3) 

0 
(0.0) 

18 
(13.2) 

10 �N�
C�;� 4 
(66.7) 

0 
(0.0) 

6 
(20.0) 

20 
(38.5) 

10 
(50.0) 

0 
(0.0) 

0 
(0.0) 

40 
(29.4) 

��� 6 
(100.0) 

20 
(100.0) 

30 
(100.0) 

52 
(100.0) 

20 
(100.0) 

6 
(100.0) 

2 
(100.0) 

136 
(100.0) 

χ2 =48.299, df = 24, Significance = .002, α = 0.05 
 

 <��"������� 4.10 F��@� 3@� Significance = 0.002 9
��������@� 0.05 (����7� H1) 
����=
� ���>�����3���:7�F7�W4�7�3���F����������������������34�����:=�"������!7� 0.05 
��
���@��;!��@� 3����"�"@������
������>������F�7������3���:7�F7�W4�7�3���F���������
����������������34�� 
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 ������� 2 ������3����4���� ��F
���!:��:��"�G�� �������7����	
������!���
�b<<7�: @3���:����c<���������������������34����3���:7�F7�W4�7�3���F���������
�������������34�� 8!�������3����4���=!=���2��F�>3 5 (Multiple Regression Analysis) �2�
��W� Enter �F
��3��3>����W�F����"7������:����"@��7� ������3����4���� ��F
���!:��:��"�G�� 
�������7����	
������!����b<<7�: @3���:����c<���������������������34����3���:7�F7�W4�7�
3���F����������������������34���������C��"7������:�����!����b<<7�: @3���:����c<�����
����������������34�� 6 "7���� ;!���@ 83��:������34��, ���>�W4�����34��, 3�����:@���@��
���F�7����, �����������A�����, �7��������������, 3@������@�� �F
��������!3��������<
"���7���������3������� ����F
��3���:�!��������:!�?�������3����4���� � ? ���<7�<
�
;!������!�7����@� !7�"@�;���C 

 

X(Struc)  = 83��:������34�� (Structure) 

X(Strate) = ���>�W4�����34�� (Strategy) 

X(Staff)  = 3�����:@���@�����F�7���� (Staff) 

X(System) = �����������A����� (System) 

X(Skill)  = �7�������������� (Skill) 

X(Share)  = 3@������@�� (Share Value) 
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"������� 4.11 
�:!�:�>�"7����:����=!=�� (Model Summary)  

���!����b<<7�: @3���:����c<���������������������34�����3���F��������������������
��34�����!������"����7�=
�3���<����A����������������� 

Changes Statics Model R R2 Adjusted 
R2 

Std.Error 
of the 

estimate 
R 

square 
change 

F 
change 

df1 df2 Sig.F 
Change 

1 .444a .197 .159 .55665 .197 5.267 6 129 .000 

Dependent Variable: ���"����7�=
�3���<����A����������������� 

?�<�����F����54"7����"���7C� 6 "7� F��@� ��3�����@���������F����54 ��
���
���W�F��F��� 19.7% :@��������
���� 80.3% ���!<�����W�F����"7�����
��o  
 

"������� 4.12 
�:!�������3����43���������� (ANOVA) 

Model Sum of Squares df Mean Square F Sig. 

Regression 9.793 6 1.632 5.267 .000
a
 

Residual 39.972 129 .310   

1 

Total 49.765 135    

 
������
���� 6 
 H0: "7������:��!����b<<7�: @3���:����c<���������������������34���>�"7� ;�@
:����=������2������F����543���F����������������������34�����!������"����7�=
�
3���<����A����������������� 
 H1: "7������:��!����b<<7�: @3���:����c<���������������������34�����"7� 
:����=������2������F����543���F����������������������34�����!������"����7�=
�
3���<����A����������������� 
    

  <��"���� P (3����@�<���A�) ���;!�<�����3����5 = .000 =�������! α = .05 
!7��7C� 3@� P ������@�3@� α <
��s��:W H0 ����7� H1 :����=:�>�;!��@� "7������:��!����b<<7�: @
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3���:����c<���������������������34�����"7� :����=������2������F����543���F������
����������������34�����!������"����7�=
�3���<����A����������������� !7��7C� <
�������
�!:��"@�;��@� "7������:��!����b<<7�: @3���:����c<���������������������34��"7��!���
�����<�������2������F����54"7����"��3���F����������������������34�����!������
"����7�=
�3���<����A����������������� 

  
"������� 4.13 

�:!�3@�:7����:��W�t���:����=!=�� (Coefficients)  
"7����!����b<<7�: @3���:����c<���������������������34����������W�F�"@�3���F���������

�������������34�����!������"����7�=
�3���<����A����������������� 
Unstandardized 
Coefficients 

Standardized 
Coefficients 

�b<<7�: @3���:����c<����������������
�����34�� 

B Std. Error Beta 

T Sig. 

(Constant) .793 .593  1.338 .183 

83��:������34�� -.157 .081 -.175 -1.947 .054 

���>�W4�����34�� .303 .087 .330 3.494 .001 

�7�������������� .373 .100 .307 3.721 .000 

3�����:@���@�����F�7���� -.058 .084 -.069 -.692 .490 

�����������A����� .124 .100 .113 1.238 .218 

1 

3@������@�� .153 .105 .116 1.451 .149 

     Dependent Variable: ���"����7�=
�3���<����A����������������� 

 <��"������� 4.13 :�>�;!��@� �b<<7�: @3���:����c<���������������������34��!���
���>�W4�����34�� ���!����7�������������� :����=������2������F����54"7����"��
3���F����������������������34�����!������"����7�=
�3���<����A�����������������;!� 
��@�����7�:��37H���:=�"������!7� .05 !7��7C� :����=:����:����F����54;!�!7���C 
 Y ����=
� 3���F����������������������34�� 
 X ����=
� �b<<7�: @3���:����c<���������������������34����!���"@��o 

Y = a + b1X1 + b2X2 + z.. + bnXn 

Y = 0.793 + 0.303 X(Strate) + 0.373 X(Skill) 
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"������� 4.14 
�:!�:�>�"7����:����=!=�� (Model Summary) 

���!����b<<7�: @3���:����c<���������������������34�����3���F��������������������
��34�����!���? ������3������"
��
�������������������� 

Changes Statics Model R R2 Adjusted 
R2 

Std.Error 
of the 

estimate 
R 

square 
change 

F 
change 

df1 df2 Sig.F 
Change 

1 .602a .362 .332 .54595 .362 12.195 6 129 .000 

Dependent Variable: ? ������3������"
��
�������������������� 

?�<�����F����54"7����"���7C� 6 "7� F��@� ��3�����@���������F����54 ��
�
�����W�F��F��� 36.2% :@��������
���� 63.8% ���!<�����W�F����"7�����
��o  
 

"������� 4.15 
�:!�������3����43���������� (ANOVA) 

Model Sum of Squares df Mean Square F Sig. 

Regression 21.808 6 3.635 12.195 .000a 

Residual 38.449 129 .298   

1 

Total 60.257 135    

 
������
���� 7 
 H0: "7������:��!����b<<7�: @3���:����c<���������������������34���>�"7� ;�@
:����=������2������F����543���F����������������������34�����!���? ������3���
���"
��
�������������������� 
 H1: "7������:��!����b<<7�: @3���:����c<���������������������34�����"7� 
:����=������2������F����543���F����������������������34�����!���? ������3���
���"
��
�������������������� 

  <��"���� P (3����@�<���A�) ���;!�<�����3����5 = .000 =�������! α = .05 
!7��7C� 3@� P ������@�3@� α <
��s��:W H0 ����7� H1 :����=:�>�;!��@� "7������:��!����b<<7�: @
3���:����c<���������������������34�����"7� :����=������2������F����543���F������
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����������������34�����!���? ������3������"
��
�������������������� !7��7C� <
�������
�!:��"@�;��@� "7������:��!����b<<7�: @3���:����c<���������������������34��"7��!���
�����<�������2������F����54"7����"��3���F����������������������34�����!���? ����
��3������"
��
�������������������� 

 
"������� 4.16 

�:!�3@�:7����:��W�t���:����=!=�� (Coefficients)  
"7����!����b<<7�: @3���:����c<���������������������34����������W�F�"@�3���F���������

�������������34�����!���? ������3������"
��
�������������������� 
Unstandardized 
Coefficients 

Standardized 
Coefficients 

�b<<7�: @3���:����c<����������������
�����34�� 

B Std. Error Beta 

T Sig. 

(Constant) .409 .581  .704 .483 

83��:������34�� .028 .079 .029 .357 .721 

���>�W4�����34�� .475 .085 .470 5.583 .000 

�7�������������� -.027 .098 -.020 -.275 .783 

3�����:@���@�����F�7���� .102 .082 .111 1.246 .215 

�����������A����� .186 .098 .154 1.900 .060 

1 

3@������@�� .003 .103 .002 .031 .975 

       Dependent Variable: ? ������3������"
��
�������������������� 

 
  <��"������� 4.16 :�>�;!��@� �b<<7�: @3���:����c<���������������������34��!���
���>�W4�����34�� :����=������2������F����54"7����"��3���F��������������������
��34�����!���? ������3������"
��
��������������������;!� ��@�����7�:��37H���:=�"����
��!7� .05 !7��7C� :����=:����:����F����54;!�!7���C 
 Y ����=
� 3���F����������������������34�� 
 X ����=
� �b<<7�: @3���:����c<���������������������34����!���"@��o 

Y = a + b1X1 + b2X2 + z.. + bnXn 

Y = 0.409 + 0.475 X(Strate)  
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"������� 4.17 
�:!�:�>�"7����:����=!=�� (Model Summary) 

���!����b<<7�: @3���:����c<���������������������34�����3���F��������������������
��34�����!������:
��:����������:��W�{�F 

Changes Statics Model R R2 Adjusted 
R2 

Std.Error 
of the 

estimate 
R 

square 
change 

F 
change 

df1 df2 Sig.F 
Change 

1 .468a .219 .183 .79802 .219 6.041 6 129 .000 

   Dependent Variable: ���:
��:����������:��W�{�F 

?�<�����F����54"7����"���7C� 6 "7� F��@� ��3�����@���������F����54 ��
�
�����W�F��F��� 21.9% :@��������
���� 78.1% ���!<�����W�F����"7�����
��o  
 

"������� 4.18 
?��7FW4�:!�������3����43���������� (ANOVA) 

Model Sum of Squares df Mean Square F Sig. 

Regression 23.082 6 3.847 6.041 .000a 

Residual 82.152 129 .637   

1 

Total 105.233 135    

 
������
���� 8 
 H0: "7������:��!����b<<7�: @3���:����c<���������������������34���>�"7� ;�@
:����=������2������F����543���F����������������������34�����!������:
��:�������
���:��W�{�F 
 H1: "7������:��!����b<<7�: @3���:����c<���������������������34�����"7� 
:����=������2������F����543���F����������������������34�����!������:
��:�������
���:��W�{�F 

  <��"���� P (3����@�<���A�) ���;!�<�����3����5 = .000 =�������! α = .05 
!7��7C� 3@� P ������@�3@� α <
��s��:W H0 ����7� H1 :����=:�>�;!��@� "7������:��!����b<<7�: @
3���:����c<���������������������34�����"7� :����=������2������F����543���F������
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����������������34�����!������:
��:����������:��W�{�F !7��7C� <
��������!:��"@�;��@� "7�
�����:��!����b<<7�: @3���:����c<���������������������34��"7��!��������<�������2������
F����54"7����"��3���F����������������������34�����!������:
��:����������:��W�{�F 

 
"������� 4.19 

�:!�3@�:7����:��W�t���:����=!=�� (Coefficients) 
"7����!����b<<7�: @3���:����c<���������������������34����������W�F�"@�3���F���������

�������������34�����!������:
��:����������:��W�{�F 

Unstandardized 
Coefficients 

Standardized 
Coefficients 

�b<<7�: @3���:����c<����������������
�����34�� 

B Std. Error Beta 

T Sig. 

(Constant) -.207 .850  -.244 .808 

83��:������34�� .067 .115 .052 .583 .561 

���>�W4�����34�� .138 .124 .104 1.113 .268 

�7�������������� .069 .144 .039 .477 .634 

3�����:@���@�����F�7���� .313 .120 .256 2.606 .010 

�����������A����� .311 .143 .195 2.170 .032 

1 

3@������@�� .069 .151 .036 .457 .649 

       Dependent Variable: ���:
��:����������:��W�{�F 
 

 <��"������� 4.19 :�>�;!��@� �b<<7�: @3���:����c<���������������������34��!���
3�����:@���@�����F�7���� ���!��������������A����� :����=������2������F����54"7�
���"��3���F����������������������34�����!������:
��:����������:��W�{�F;!� ��@����
�7�:��37H���:=�"������!7� .05 !7��7C� :����=:����:����F����54;!�!7���C 
 Y ����=
� 3���F����������������������34�� 
 X ����=
� �b<<7�: @3���:����c<���������������������34����!���"@��o 

Y = a + b1X1 + b2X2 + z.. + bnXn 

Y = -0.207 + 0.313 X(Staff) + 0.311 X(System) 
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"������� 4.20 
�:!�:�>�"7����:����=!=�� (Model Summary) 

���!����b<<7�: @3���:����c<���������������������34�����3���F��������������������
��34�����!������:�����7|�W��������34����������:��W�{�F 

Changes Statics Model R R2 Adjusted 
R2 

Std.Error 
of the 

estimate 
R 

square 
change 

F 
change 

df1 df2 Sig.F 
Change 

1 .458a .209 .173 .713 .209 5.697 6 129 .000 

  Dependent Variable: ���:�����7|�W��������34����������:��W�{�F 

?�<�����F����54"7����"���7C� 6 "7� F��@� ��3�����@���������F����54 ��
���
���W�F��F��� 20.9% :@��������
���� 79.1% ���!<�����W�F����"7�����
��o  
 

"������� 4.21 
�:!�������3����43���������� (ANOVA) 

Model Sum of Squares df Mean Square F Sig. 

Regression 17.373 6 2.896 5.697 .000a 

Residual 65.568 129 .508   

1 

Total 82.941 135    

 
������
���� 9 

 H0: "7������:��!����b<<7�: @3���:����c<���������������������34���>�"7� ;�@
:����=������2������F����543���F����������������������34�����!������:����
�7|�W��������34����������:��W�{�F 
 H1: "7������:��!����b<<7�: @3���:����c<���������������������34�����"7� 
:����=������2������F����543���F����������������������34�����!������:����
�7|�W��������34����������:��W�{�F 

  <��"���� P (3����@�<���A�) ���;!�<�����3����5 = .000 =�������! α = .05 
!7��7C� 3@� P ������@�3@� α <
��s��:W H0 ����7� H1 :����=:�>�;!��@� "7������:��!����b<<7�: @
3���:����c<���������������������34�����"7� :����=������2������F����543���F������
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����������������34�����!������:�����7|�W��������34����������:��W�{�F !7��7C� <
�������
�!:��"@�;��@� "7������:��!����b<<7�: @3���:����c<���������������������34��"7��!���
�����<�������2������F����54"7����"��3���F����������������������34�����!������
:�����7|�W��������34����������:��W�{�F 

 
"������� 4.22 

�:!�3@�:7����:��W�t���:����=!=�� (Coefficients) 
"7����!����b<<7�: @3���:����c<���������������������34����������W�F�"@�3���F���������

�������������34�����!������:�����7|�W��������34����������:��W�{�F 
Unstandardized 
Coefficients 

Standardized 
Coefficients 

�b<<7�: @3���:����c<����������������
�����34�� 

B Std. Error Beta 

T Sig. 

(Constant) .840 .759  1.107 .270 

83��:������34�� -.011 .103 -.009 -.105 .917 

���>�W4�����34�� .239 .111 .202 2.151 .033 

�7�������������� .013 .128 .008 .101 .919 

3�����:@���@�����F�7���� .246 .107 .226 2.290 .024 

�����������A����� .229 .128 .162 1.787 .076 

1 

3@������@�� -.075 .135 -.044 -.558 .578 

     Dependent Variable: ���:�����7|�W��������34����������:��W�{�F 

  
  <��"������� 4.22 :�>�;!��@� �b<<7�: @3���:����c<���������������������34��!���
���>�W4�����34�� ���!���3�����:@���@�����F�7���� :����=������2������F����54"7����
"��3���F����������������������34�����!������:�����7|�W��������34�������
���:��W�{�F;!� ��@�����7�:��37H���:=�"������!7� .05 !7��7C� :����=:����:����F����54;!�
!7���C      Y ����=
� 3���F����������������������34�� 
 X ����=
� �b<<7�: @3���:����c<���������������������34����!���"@��o 

Y = a + b1X1 + b2X2 + z.. + bnXn 

Y = 0.840 + 0.239 X(Strate) + 0.246 X(Staff) 
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"������� 4.23 
 �:!�:�>�"7����:����=!=�� (Model Summary) 

���!����b<<7�: @3���:����c<���������������������34�����3���F��������������������
��34�����!������<7!������"@�"����������������� 

Changes Statics Model R R2 Adjusted 
R2 

Std.Error 
of the 

estimate 
R 

square 
change 

F 
change 

df1 df2 Sig.F 
Change 

1 .341a .116 .075 .707 .116 2.833 6 129 .013 

  Dependent Variable: ���<7!������"@�"����������������� 

?�<�����F����54"7����"���7C� 6 "7� F��@� ��3�����@���������F����54 ��
���
���W�F��F��� 11.6% :@��������
���� 88.4% ���!<�����W�F����"7�����
��o  
 

"������� 4.24 
�:!�������3����43���������� (ANOVA) 

Model Sum of Squares df Mean Square F Sig. 

Regression 8.492 6 1.415 2.833 .013a 

Residual 64.450 129 .500   

1 

Total 72.941 135    

 
������
���� 10 

 H0: "7������:��!����b<<7�: @3���:����c<���������������������34���>�"7� ;�@
:����=������2������F����543���F����������������������34�����!������<7!������
"@�"����������������� 
 H1: "7������:��!����b<<7�: @3���:����c<���������������������34�����"7� 
:����=������2������F����543���F����������������������34�����!������<7!������
"@�"����������������� 

  <��"���� P (3����@�<���A�) ���;!�<�����3����5 = .013 =�������! α = .05 
!7��7C� 3@� P ������@�3@� α <
��s��:W H0 ����7� H1 :����=:�>�;!��@� "7������:��!����b<<7�: @
3���:����c<���������������������34�����"7� :����=������2������F����543���F������
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����������������34�����!������<7!������"@�"����������������� !7��7C� <
��������!:��
"@�;��@� "7������:��!����b<<7�: @3���:����c<���������������������34��"7��!��������<�
������2������F����54"7����"��3���F����������������������34�����!������<7!������
"@�"����������������� 
 

"������� 4.25 
�:!�3@�:7����:��W�t���:����=!=�� (Coefficients) 

"7����!����b<<7�: @3���:����c<���������������������34����������W�F�"@�3���F���������
�������������34�����!������<7!������"@�"����������������� 

Unstandardized 
Coefficients 

Standardized 
Coefficients 

�b<<7�: @3���:����c<����������������
�����34�� 

B Std. Error Beta 

T Sig. 

(Constant) 1.337 .753  1.777 .078 

83��:������34�� -.268 .102 -.247 -2.621 .010 

���>�W4�����34�� .064 .110 .058 .585 .559 

�7�������������� .343 .127 .233 2.694 .008 

3�����:@���@�����F�7���� .121 .106 .119 1.139 .257 

�����������A����� .117 .127 .088 .922 .358 

1 

3@������@�� .237 .134 .148 1.773 .079 

     Dependent Variable: ���<7!������"@�"����������������� 
 

  <��"������� 4.25 :�>�;!��@� �b<<7�: @3���:����c<���������������������34��!���
83��:������34�� ���!����7�������������� :����=������2������F����54"7����"��3���
F����������������������34�����!������<7!������"@�"�����������������;!� ��@����
�7�:��37H���:=�"������!7� .05 !7��7C� :����=:����:����F����54;!�!7���C       
 Y ����=
� 3���F����������������������34�� 
 X ����=
� �b<<7�: @3���:����c<���������������������34����!���"@��o 

Y = a + b1X1 + b2X2 + z.. + bnXn 

Y = 1.337 O 0.268 X(Struc) + 0.343 X(Skill) 
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 "������� 4.26 
�:!�3���:7�F7�W4����@���b<<7�: @3���:����c<���������������������34�����"7� ���3���

F����������������������34�����!������"����7�=
�3���<����A����������������� 
3���F����������������������34�����!������"����7�=
� 

3���<����A����������������� �b<<7�: @3���:����c<�����
����������������34�� 3@�:7����:��W�t

:�:7�F7�W4 (r) 
3@���!7��7�:��37H 

(Sig.) 
��!7�3���:7�F7�W4 

���>�W4�����34�� .297** .000 3���:7�F7�W4����!7�"��� 

�7�������������� .304** .000 3���:7�F7�W4����!7�������� 

** ��!7��7�:��37H = 0.01 

 
������
���� 11 

 H0: ���>�W4�����34��;�@��3���:7�F7�W4�7�3���F����������������������34��
���!������"����7�=
�3���<����A����������������� 
 H1: ���>�W4�����34����3���:7�F7�W4�7�3���F����������������������34��
���!������"����7�=
�3���<����A����������������� 
 <��"������� 4.26 ?�������3����43���:7�F7�W4����@���b<<7�: @3���:����c<�����
����������������34�����!������>�W4�����34�����3���F����������������������34��
���!������"����7�=
�3���<����A����������������� ��3@� Sig ��@��7� .000 9
����3@�������@�
��!7��7�:��37H .01 !7��7C� �s��:W:��"�G����7� (H0) �������7�:��"�G����� (H1) 
����3����@� �b<<7�: @3���:����c<���������������������34�����!������>�W4�����34����
3���:7�F7�W4�7�3���F����������������������34�����!������"����7�=
�3���<����A���
�������������� ��@�����7�:��37H���:=�"���!7� .01 8!�3@�:7����:��W�t:�:7�F7�W4 (r) ��3@�
��@��7� .297 �:!��@� "7�����7C�:����3���:7�F7�W4����!7�"��� �����A�;�����	����!����7� 
 
������
���� 12 
 H0: �7��������������;�@��3���:7�F7�W4�7�3���F����������������������34��
���!������"����7�=
�3���<����A����������������� 
 H1: �7����������������3���:7�F7�W4�7�3���F����������������������34��
���!������"����7�=
�3���<����A����������������� 



 

 

68 

 <��"������� 4.26 ?�������3����43���:7�F7�W4����@�� �b<<7�: @3���:����c<�����
����������������34�����!����7�����������������3���F����������������������34��
���!������"����7�=
�3���<����A����������������� ��3@� Sig ��@��7� .000 9
����3@�������@�
��!7��7�:��37H .01 !7��7C� �s��:W:��"�G����7� (H0) �������7�:��"�G����� (H1) 
����3����@� �b<<7�: @3���:����c<���������������������34�����!����7����������������
3���:7�F7�W4�7�3���F����������������������34�����!������"����7�=
�3���<����A���
�������������� ��@�����7�:��37H���:=�"���!7� .01 8!�3@�:7����:��W�t:�:7�F7�W4 (r) ��3@�
��@��7� .304 �:!��@�"7�����7C�:����3���:7�F7�W4����!7�������������A�;�����	���
�!����7� 
 

"������� 4.27 
�:!�3���:7�F7�W4����@���b<<7�: @3���:����c<���������������������34�����"7�  

���3���F����������������������34�����!���? ������3������"
��
�������������������� 
3���F����������������������34�����!���? ������3������"
��
���������

����������� �b<<7�: @3���:����c<�����
����������������34�� 3@�:7����:��W�t

:�:7�F7�W4 (r) 
3@���!7��7�:��37H 

(Sig.) 
��!7�3���:7�F7�W4 

���>�W4�����34�� .561 ** .000 3���:7�F7�W4����!7�������� 

** ��!7��7�:��37H = 0.01 

 
������
���� 13 

 H0: ���>�W4�����34��;�@��3���:7�F7�W4�7�3���F����������������������34��
���!���? ������3������"
��
�������������������� 
 H1: ���>�W4�����34����3���:7�F7�W4�7�3���F����������������������34��
���!���? ������3������"
��
�������������������� 
 

 <��"������� 4.27 ?�������3����43���:7�F7�W4����@���b<<7�: @3���:����c<�����
����������������34�����!������>�W4�����34�����3���F����������������������34��
���!���? ������3������"
��
�������������������� ��3@� Sig ��@��7� .000 9
����3@�������@���!7�
�7�:��37H .01 !7��7C� �s��:W:��"�G����7� (H0) �������7�:��"�G����� (H1) ����3����@� 
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�b<<7�: @3���:����c<���������������������34�����!������>�W4�����34����3���:7�F7�W4�7�
3���F����������������������34�����!���? ������3������"
��
�������������������� ��@��
���7�:��37H���:=�"���!7� .01 8!�3@�:7����:��W�t:�:7�F7�W4 (r) ��3@���@��7� .561 �:!��@�"7����
�7C�:����3���:7�F7�W4����!7�������������A�;�����	����!����7� 
 

"������� 4.28 
�:!�3���:7�F7�W4����@���b<<7�: @3���:����c<���������������������34�����"7� ���3���

F����������������������34�����!������:
��:����������:��W�{�F 

3���F����������������������34�����!������:
��:����������:��W�{�F 
�b<<7�: @3���:����c<�����
����������������34�� 3@�:7����:��W�t

:�:7�F7�W4 (r) 
3@���!7��7�:��37H 

(Sig.) 
��!7�3���:7�F7�W4 

3�����:@���@�����F�7���� .410** .000 3���:7�F7�W4����!7�������� 

�����������A����� .346** .000 3���:7�F7�W4����!7�������� 

** ��!7��7�:��37H = 0.01 

 
������
���� 14 

 H0:3�����:@���@�����F�7����;�@��3���:7�F7�W4�7�3���F��������������������
��34�����!������:
��:����������:��W�{�F 
 H1:3�����:@���@�����F�7������3���:7�F7�W4�7�3���F��������������������
��34�����!������:
��:����������:��W�{�F 
 

  <��"������� 4.28 ?�������3����43���:7�F7�W4����@���b<<7�: @3���:����c<�����
����������������34�����!���3�����:@���@�����F�7�������3���F��������������������
��34�����!������:
��:����������:��W�{�F ��3@� Sig ��@��7� .000 9
����3@�������@���!7�
�7�:��37H .01 !7��7C� �s��:W:��"�G����7� (H0) �������7�:��"�G����� (H1) ����3����@� 
�b<<7�: @3���:����c<���������������������34�����!���3�����:@���@�����F�7������
3���:7�F7�W4�7�3���F����������������������34�����!������:
��:����������:��W�{�F ��@��
���7�:��37H���:=�"���!7� .01 8!�3@�:7����:��W�t:�:7�F7�W4 (r) ��3@���@��7� .410 �:!��@� "7�
����7C�:����3���:7�F7�W4����!7�������� �����A�;�����	����!����7� 
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������
���� 15 

 H0: �����������A�����;�@��3���:7�F7�W4�7�3���F����������������������34��
���!������:
��:����������:��W�{�F 
 H1: �����������A�������3���:7�F7�W4�7�3���F����������������������34��
���!������:
��:����������:��W�{�F 
 <��"������� 4.28 ?�������3����43���:7�F7�W4����@�� �b<<7�: @3���:����c<�����
����������������34�����!��������������A��������3���F����������������������34��
���!������:
��:����������:��W�{�F ��3@� Sig ��@��7� .000 9
����3@�������@���!7��7�:��37H .01 
!7��7C� �s��:W:��"�G����7� (H0) �������7�:��"�G����� (H1) ����3����@� �b<<7�: @
3���:����c<���������������������34�����!��������������A�������3���:7�F7�W4�7�3���
F����������������������34�����!������:
��:����������:��W�{�F ��@�����7�:��37H���:=�"�
��!7� .01 8!�3@�:7����:��W�t:�:7�F7�W4 (r) ��3@���@��7� .346 �:!��@�"7�����7C�:����
3���:7�F7�W4����!7�������������A�;�����	����!����7� 
 

"������� 4.29 
�:!�3���:7�F7�W4����@���b<<7�: @3���:����c<���������������������34�����"7� ���3���

F����������������������34�����!������:�����7|�W��������34����������:��W�{�F 
3���F����������������������34�����!������:�����7|�W��������34�������

���:��W�{�F �b<<7�: @3���:����c<�����
����������������34�� 3@�:7����:��W�t

:�:7�F7�W4 (r) 
3@���!7��7�:��37H 

(Sig.) 
��!7�3���:7�F7�W4 

���>�W4�����34�� .347** .000 3���:7�F7�W4����!7�������� 

3�����:@���@�����F�7���� .396** .000 3���:7�F7�W4����!7�������� 

** ��!7��7�:��37H = 0.01 

 
������
���� 16 

 H0: ���>�W4�����34��;�@��3���:7�F7�W4�7�3���F����������������������34��
���!������:�����7|�W��������34����������:��W�{�F 
 H1: ���>�W4�����34����3���:7�F7�W4�7�3���F����������������������34��
���!������:�����7|�W��������34����������:��W�{�F 
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 <��"������� 4.29 ?�������3����43���:7�F7�W4����@���b<<7�: @3���:����c<�����
����������������34�����!������>�W4�����34�����3���F����������������������34��
���!������:�����7|�W��������34����������:��W�{�F ��3@� Sig ��@��7� .000 9
����3@�������@�
��!7��7�:��37H .01 !7��7C� �s��:W:��"�G����7� (H0) �������7�:��"�G����� (H1) 
����3����@� �b<<7�: @3���:����c<���������������������34�����!������>�W4�����34����
3���:7�F7�W43���F�����7�������������������34�����!������:�����7|�W��������34�������
���:��W�{�F ��@�����7�:��37H���:=�"���!7� .01 8!�3@�:7����:��W�t:�:7�F7�W4 (r) ��3@�
��@��7� .347 �:!��@� "7�����7C�:����3���:7�F7�W4����!7�������������A�;�����	���
�!����7� 
 
������
���� 17 

 H0:3�����:@���@�����F�7����;�@��3���:7�F7�W4�7�3���F��������������������
��34�����!������:�����7|�W��������34����������:��W�{�F 
 H1:3�����:@���@�����F�7������3���:7�F7�W4�7�3���F��������������������
��34�����!������:�����7|�W��������34����������:��W�{�F 
  
 <��"������� 4.29 ?�������3����43���:7�F7�W4����@�� �b<<7�: @3���:����c<�����
����������������34�����!���3�����:@���@�����F�7�������3���F��������������������
��34�����!������:�����7|�W��������34����������:��W�{�F ��3@� Sig ��@��7� .000 9
����3@�����
��@���!7��7�:��37H .01 !7��7C� �s��:W:��"�G����7� (H0) �������7�:��"�G����� (H1) 
����3����@� �b<<7�: @3���:����c<���������������������34�����!���3�����:@���@�����
F�7������3���:7�F7�W4�7�3���F����������������������34�����!������:�����7|�W���
�����34����������:��W�{�F ��@�����7�:��37H���:=�"���!7� .01 8!�3@�:7����:��W�t:�:7�F7�W4 (r) 
��3@���@��7� .396 �:!��@�"7�����7C�:����3���:7�F7�W4����!7�������������A�;�����	���
�!����7� 
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"������� 4.30 
�:!�3���:7�F7�W4����@���b<<7�: @3���:����c<���������������������34�����"7� ���3���

F����������������������34�����!������<7!������"@�"����������������� 
3���F����������������������34�����!������<7!������"@�"������

����������� �b<<7�: @3���:����c<�����
����������������34�� 3@�:7����:��W�t

:�:7�F7�W4 (r) 
3@���!7��7�:��37H 

(Sig.) 
��!7�3���:7�F7�W4 

83��:������34�� -.095 .274 ;�@��3���:7�F7�W4 

�7�������������� .191* .026 3���:7�F7�W4����!7�"��� 

* ��!7��7�:��37H = 0.05 

 
������
���� 18 

 H0:83��:������34��;�@��3���:7�F7�W4�7�3���F����������������������34����
!������<7!������"@�"����������������� 
 H1:83��:������34����3���:7�F7�W4�7�3���F����������������������34����!���
���<7!������"@�"����������������� 
  <��"������� 4.30 ?�������3����43���:7�F7�W4����@���b<<7�: @3���:����c<�����
����������������34�����!���83��:������34�����3���F����������������������34��
���!������<7!������"@�"�������������������3@� Sig ��@��7� .274 9
����3@������@���!7�
�7�:��37H .01 !7��7C� ����7�:��"�G����7� (H0) ����s��:W:��"�G����� (H1) ����3����@� 
�b<<7�: @3���:����c<���������������������34�����!���83��:������34��;�@��3���:7�F7�W4�7�
3���F����������������������34�����!������<7!������"@�"����������������� ��@����
�7�:��37H���:=�"���!7� .05  
 
������
���� 19 
 H0:�7��������������;�@��3���:7�F7�W4�7�3���F����������������������34��
���!������<7!������"@�"����������������� 
 H1:�7����������������3���:7�F7�W4�7�3���F����������������������34��
���!������<7!������"@�"����������������� 
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 <��"������� 4.30 ?�������3����43���:7�F7�W4����@�� �b<<7�: @3���:����c<�����
����������������34�����!����7�����������������3���F����������������������34��
���!������<7!������"@�"����������������� ��3@� Sig ��@��7� .026 9
����3@�������@���!7�
�7�:��37H .01 !7��7C� �s��:W:��"�G����7� (H0) �������7�:��"�G����� (H1) ����3����@� 
�b<<7�: @3���:����c<���������������������34�����!����7����������������3���:7�F7�W4�7�
3���F����������������������34�����!������<7!������"@�"����������������� ��@����
�7�:��37H���:=�"���!7� .05 8!�3@�:7����:��W�t:�:7�F7�W4 (r) ��3@���@��7� .191 �:!��@�"7����
�7C�:����3���:7�F7�W4����!7�"��������A�;�����	����!����7� 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


